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2. 3% D % NABC R—Bi#15§ LACD = /ABD, H /ADB =90°, M £ BC
Hyrhh, BX1 AB =12, AC=8, H] DM =
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5. # a & THREeR AEM

r =1 (mod 2)
r =2 (mod 3)
r =1 (mod b)
r =5 (mod7)
Kx =2 (mod 9)
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1.a>0,b>0,0#fA, K BB /IME.

cos 9 sin 9

2. AABC T, G REL. Eif L# AB 1 BC &35 M 1 No BM =

pBA, BN = qBC, K pq #&/IME.
3. a1 =2, apy1 = %(an + %), forn > 1,

(1) &9 lim a, FAE

(2) B Y (2 — 1) Mok
n=1

4. Anxn = [aij]7 ann = [bij]’ :/H\:EP bij = E Qi — aijo detA = a, ;JQ det B (,L\/L a
k=1

5. % S [2] = 2012 MFTE ERBGR.
n=1
6. KA/ | BUTERL, FRUMS 1, EHUMS 2 it

7. P(a,b) £ 2* +y* =5 L, KHEE logy(b—a) —logg(3b —ba) = 0 BIFTEE P.
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